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Multiple Choice Questions:  Circle the best answer for each question.

Part 2.
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Part 3.
Case:  Remember to discuss GAAP for each issue.  Recommendations must be in keeping with GAAP.
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PART 1.  Choose the best answer for each of the following independent questions.  (10 marks)

1.

An effective capital allocation process



a.
encourages innovation.

b.
promotes productivity.



c.
provides an efficient and liquid market for buying and selling securities.



d.
all of these.



e.
none of the above.

2.

The preparation by some companies of biased information is sometimes referred to as



a.
conservative financial reporting.



b.
aggressive financial reporting.



c.
full disclosure of all material facts.



d.
management stewardship.

e.  none of the above

3.

Which of the following relates to both relevance and reliability?



a.
Materiality



b.
Understandability



c.
Usefulness



d.
All of these



e.   none of the above.

4.

Financial information does not demonstrate consistency when

a.
firms in the same industry use different accounting methods to account for the same type of transaction.

b.
a company changes its estimate of the residual value of a fixed asset.

c.
a company fails to adjust its financial statements for changes in the value of the measuring unit.


d.
all of the above.

e.
none of the above.

5.

Which of the following criteria must be met before an event or item should be recorded for accounting purposes?



a.
The event or item can be measured objectively in financial terms.



b.
The event or item is relevant and reliable.



c.
The event or item is an element.



d.
All of these must be met.

e.
none of the above.

6.

An example of a transaction is



a.
the receipt of cash from a customer prior to performing the service.



b.
the recording of amortization.



c.
the accrual of salaries owed.



d.
all of the above.


e.
none of the above.

7.

Which of these is generally an example of an extraordinary item?

a.
Loss incurred because of a strike by employees.

b.
Write-off of deferred marketing costs believed to have no future benefit.

c.
Gain resulting from the devaluation of the Canadian dollar.

d.
Gain resulting from the government expropriating a piece of land used as a parking lot.



e.
None of the above

8.

Income taxes are allocated to



a.
material unusual items.



b.
change in estimate.



c.
extraordinary items.



d.
all of the above.

e.
none of the above.

9.

Equity or debt securities held to finance future construction of additional plants should be classified on a balance sheet as



a.
current assets.



b.
property, plant, and equipment.



c.
intangible assets (Long-term Investments).



d.
Other assets (Long-term Investments).



e.
None of the above.

10.

In preparing a statement of cash flows, repurchase of a company’s own shares at an amount greater than cost would be classified as a(n)



a.
operating activity.



b.
financing activity.



c.
extraordinary activity.



d.
investing activity.



e.
None of the above.

PART 2.
Problem  (30 Marks)
ANSWER ONLY ONE OF THE TWO PROBLEMS.  IF BOTH PROBLEMS ARE ANSWERED, PROBLEM 1 WILL BE MARKED.
Problem 1.  (30 marks)
Victor Newman, CEO of Newman Enterprises Ltd., has an appointment with the bank today to arrange a loan to take advantage of another takeover.  To prepare for the meeting, he reviewed the documents Neil Winters, the accountant, had dropped off for him to take to the bank.  It was then that he realized all Neil Winters had given him was comparative balance sheets for two years and a list of cash disbursements for one year.  The bank had specifically asked for a full set of financial statements (Balance Sheets, Income Statements, and Cash Flow Statements for the year ended 2002.)  Victor Newman asked you to prepare the Income Statement and Cash Flow Statement for the year ending 2002.  He gave you the work that Winters had completed.  It is shown below.

	Cash disbursements
	2002

	Rent payments
	$   38,000

	Insurance premiums paid
	16,000

	Wages paid
	78,000

	Loan payments
	

	Payments to suppliers (for inventory)
	228,000

	Equipment purchases
	15,000

	Interest payments
	11,000

	Dividends declared and paid
	30,000


You checked with the accounting department and found that cash received from customers during 2001 was $345,000 and during 2002 was $391,000.

The comparative balance sheets follow on the next page.

Required:

a.
Prepare the Income Statement for the year ended 2002.

b.
Prepare the Cash Flow Statement (indirect method) for the year ended 2002.

	Newman enterprises Ltd.
	
	

	Balance Sheets
	
	

	At December 31
	2002
	2001

	Assets
	
	

	Current
	
	

	Cash
	$    15,000
	$    25,000

	Accounts receivable
	110,000
	80,000

	Inventory
	50,000
	41,000

	Prepaid rent
	12,000
	11,000

	Prepaid insurance
	8,000
	10,000

	
	$  195,000
	$  167,000

	Capital Assets
	
	

	Equipment (net)
	95,000
	85,000

	Total Assets
	$  290,000
	$  252,000

	
	
	

	Liabilities and Shareholders’ Equity
	
	

	Liabilities
	
	

	Current Liabilities
	
	

	Accounts payable (for inventory)
	$    65,000
	$    52,000

	Interest payable
	10,000
	10,000

	Salaries payable
	25,000
	17,000

	
	$  100,000
	$  79,000

	Long-term Liabilities
	
	

	Loan payable
	100,000
	85,000

	Total Liabilities
	$  200,000
	$  164,000

	Shareholders’ Equity
	
	

	Capital stock
	$    50,000
	$    50,000

	Retained earnings
	40,000
	38,000

	
	$    90,000
	$    88,000

	Total Liabilities and Shareholders’ Equity
	$  290,000
	$  252,000


SOLUTIONS TO PROBLEM 1
	NEWMAN ENTERPRISES LTD
	

	Income Statement
	

	For the year ended 2001
	2002

	Sales
	$  421,000

	Cost of goods sold
	232,000

	Gross profit
	189,000

	Operating expenses
	

	Rent
	37,000

	Insurance
	18,000

	Depreciation
	5,000

	Interest
	11,000

	Salaries
	86,000

	Total expenses
	157,000

	Net income
	$    32,000


Sales:

2002 -- $391,000 – 80,000 + 110,000 = $421,000

Cost of Goods Sold:

2002 – (A/P to determine purchases) -- $228,000 – 52,000 + 65,000 n= $241,000

            (Inventory to determine CGS) -- $41,000 + 241,000 – 50,000 = $232,000

Rent Expense:

2002 -- $11,000 + 38,000 – 12,000 = $37,000

Insurance Expense:

2002 -- $10,000 + 16,000 – 8,000 = $18,000

Interest Expense:

2002 -- $11,000 – 10,000 + 10,000 = $11,000

Salaries Expense:

2002 -- $78,000 – 17,000 + 25,000 = $86,000

Depreciation Expense:

2002 – ($85,000 + 15,000 – 95,000 = $5,000)

	Newman enterprises ltd.
	

	Cash Flow Statement
	

	For the year ended 2002
	2002

	Operating Activities
	

	Net income
	$     32,000

	Add:  Noncash expenses (depreciation)
	5,000

	Increase in Accounts Receivable
	-30,000

	Increase in Inventory
	-9,000

	Increase in Prepaid Rent
	-1,000

	Decrease in Prepaid Insurance
	2,000

	Increase in Accounts Payable
	13,000

	Increase in Interest Payable
	-0-

	Increase in Salaries Payable
	8,000

	
	

	Cash from (used for) Operating Activities
	$      20,000

	
	

	Investing Activities
	

	Purchase of Equipment
	$     -15,000

	Cash Used for Investing Activities
	$     -15,000

	
	

	Financing Activities
	

	Decrease in bank loan
	

	Increase in bank loan
	$      15,000

	Dividends paid
	-30,000

	Cash from (used for) Financing Activities
	$    -15,000

	
	

	Net Cash Flow
	$     -10,000

	Cash at the beginning of the year
	25,000

	Cash at the end of the year
	$      15,000


PART 2.  Problem 2.  (30 marks)

ANSWER ONLY ONE OF THE TWO PROBLEMS.  IF BOTH PROBLEMS ARE ANSWERED, PROBLEM 1 WILL BE MARKED.
Fashion Show Coordination Limited, owned by Deacon Sharp, completed its first year of operation on December 31, 2001.  Deacon has recorded events as best he could, but he has never studied accounting.  He asked you to review the accounts and make recommendations for changes before he prepared a balance sheet.  Deacon did not record any revenue or expense items.  A friend told him that the difference between the total of the assets and the total of the liabilities has to be equity.  Therefore, he assumed all he had to do was to force the retained earnings account so this would be the case.

	Trial balance
	
	

	December 31, 2001
	
	

	Accounts
	Debit
	Credit

	Cash
	$   12,600
	

	Accounts Receivable
	48,750
	

	Props
	55,000
	

	Make Up and Hair Pieces
	7,830
	

	Prepaid Insurance
	5,800
	

	Furniture
	3,950
	

	Computer
	2,800
	

	Car
	80,000
	

	Accounts payable
	
	$   35,890

	Wages payable
	
	17,540

	Bank Loan
	
	50,000

	Interest Payable
	
	5,000

	Capital Stock
	
	50,000

	Retained Earnings (forced to make the totals equal)
	
	58,300

	Totals
	$ 216,730
	$ 216,730


Additional Information

1.
Cash includes $12,500, the amount in Deacon’s personal bank account.

2.
Accounts receivable includes $10,000 for a contract signed with Spectra Fashions to organize their fashion show next year.

3.
He paid $45,000 for the props, but has been offered $55,000 by a local fashion house.

4.
The car is his personal car.  He does not need a car for business purposes, but his friend told him that it was advantageous to include the car in the business accounts.  The prepaid insurance includes $3,000 of car insurance.  The bank loan was taken out to finance the purchase of the car and the interest payable is on this loan.

5.
Accounts payable includes $9,750 owing on Deacon Sharp’s personal American Express account.  He was doing so well that he treated himself and some friends to a luxury cruise in November when business was slow.

6.
Wages payable includes $3,000 that he agreed to pay Paul Williams to provide security at the Spectra Fashion show next year.

7.
He purchased furniture for $3,950 and transferred his antique desk to the business.  The desk had been valued for insurance purposes and he was surprised to learn that it was worth $8,000.

8.
He had paid $4,000 for the computer but his friend told him that computers were coming down in price.  He reduced the account balance to $2,800.


Required:   Discuss GAAP for each item (1 to 8).  Prepare a revised Balance Sheet.
SOLUTION TO PROBLEM 2
1.
Entity concept 


– owner and business are separate entities for accounting purposes.


- In this case they are separate entities legally as it is an incorporated business

2.
Transaction has not occurred


- You cannot record a transaction until it occurs

3.
Historical cost principle


- assets must be carried at historical cost

4.
Entity concept


(as above)

5.
Entity concept


(as above)

6.
Transaction has not occurred

7.
The desk has been transferred.  Implies ownership has transferred to the business.  Add the desk to fixed assets.

8.
Historical cost principle


- leave computer at $4,000 unless future benefit is permanently impaired.

	account
	deacon’s balances
	increases
	decreases
	corrected balances

	Cash
	$   12,600
	
	$  12,500
	$         100

	Accounts Receivable
	48,750
	
	10,000
	38,750

	Props
	55,000
	
	10,000
	45,000

	Make Up and Hair Pieces
	7,830
	
	
	7,830

	Prepaid Insurance
	5,800
	
	3,000
	2,800

	Furniture
	3,950
	$   8,000
	
	11,950

	Computer
	2,800
	1,200
	
	4,000

	Car
	80,000
	
	80,000
	-0-

	Total Assets
	$ 216,730
	
	
	$ 110,430

	Accounts payable
	$   35,890
	
	9,750
	$   26,140

	Wages payable
	17,540
	
	3,000
	14,540

	Bank Loan
	50,000
	
	50,000
	-0-

	Interest Payable
	5,000
	
	5,000
	-0-

	Capital Stock
	50,000
	
	
	50,000

	Retained Earnings (forced to make the totals equal)
	58,300
	
	
	19,750

	Total Liabilities and Equity
	$ 216,730
	
	
	$ 110,430


PART 3.  Case  (15 Marks)
Burrell Corporation commenced business on February 1, 2003.  The results are out for the first 11 months of operation (to December 31, 2003).  Year end is January 31, 2004.

You arrived in town early today since you were starting your new job as accountant at Burrell Corporation.  There was a Starbucks around the corner so you decided to celebrate with a double cappuccino.  While you waited in line, you overheard the following conversation.

“Hi, Jim.  How’s it going?”

Jim
“Oh, hi Joan.  It doesn’t look good.  Our investors are expecting to see a profit.  We only have a couple of weeks to turn this thing around.  There must be a way.  Who would have thought our big contract would be a drain on our resources.  Do you have any ideas?  You accounting types have ways of fixing the numbers.”

Joan
“Well, we estimate a loss of $2 million from the Lowray contract.  We have to recognize the estimated loss this year.  That’s GAAP.  The two reasons we will lose on this are:  first, the only supplier of our main raw material raised the price over 300% in March; second, our contract with Lowray is in US dollars and our contract with the supplier is in Canadian dollars.  Since the Canadian dollar has strengthened, we lose on converting US dollars received from Lowray – we get less Canadian dollars.”

Jim
Why do we have to recognize the loss this year?  Things could change.  We won’t complete the contract for two more years.  There is no need to recognize the entire loss on the project this year!


“How are you depreciating the equipment?”

Joan
“Double-declining balance method over 5 years.  I estimated $200,000 salvage value, but we’ll be lucky if it’s worth anything.”

Jim
“Why would you use an accelerated method?  And why only 5 years.  That equipment will last a long, long time.  If there are no technological breakthroughs, it will be worth a lot more than $200,000.”

Joan
“We could justify straight-line, but 5 years is probably too long.  This equipment will probably be obsolete before 5 years.”

Jim
“Nobody knows these things for certain.  Not even the auditors!  Let me know what life and salvage you need to get rid of the loss.


“The exchange loss is an extraordinary item.  At lease we can put that below operating income.”
You got your coffee and left at this point.

While you waited at the reception desk, to your surprise, Jim and Joan came in the door.  You later learned that Jim is the president of Burrell and Joan is the VP of Finance for Burrell.

Required:  Analyze the case.  Remember to discuss GAAP for each issue.  Your recommendation should be in line with the FRO.

A Solution
Overview:

Company

· This is a new company in its first year of operation.  

· They are involved with long-term projects (at least one)

· They are incorporated and they have investors, but we don’t know if it is public or private.

· They are losing money on their big contract and this loss is causing a net loss

Users

· Management (aggressive)

· Investors (conservative)

· Bank and other creditors (conservative)

· Customers (if public company) (conservative)

· Other reasonable (C/A)

Constraints

· GAAP – the company is being audited

Your Role

· New accountant

FRO

(Either)

Issues
1.
Depreciation on equipment


Method chosen cannot contradict usefulness of asset.

VP Finance thinks she can justify straight line (most aggressive)

Double-declining balance is the most conservative method

Declining balance is an acceptable accelerated method

Recommendation:  Any method (must be in keeping with their FRO and with GAAP)

2.
Estimated life and salvage value of equipment

Estimates must be reasonable.  Auditors will not accept unreasonable estimates.
Recommendation:  Must be in keeping with their FRO and with GAAP.  

Probably difficult to justify more than 5 years since the chief financial officer feels this is the outside acceptable estimate (aggressive)

Less than 5 years (conservative)

Recommendation:  Must be reasonable and in line with their FRO

3.
Extraordinary item

GAAP:  

· An item resulting from an event which has had no input from management

· Not a normal part of business

· Occurs infrequently

· Report below operating income (net of tax)

Recommendation:  Foreign exchange fluctuation is a normal part of business for companies dealing with customers and suppliers in foreign currencies.  This cannot be treated as an extraordinary item.
PAGE  
16

_1115211723.bin

